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Read the following passage and answer
the Question Nos. 1 to 6 given below :

Chemical pesticides lose their role in
sustainable agriculture if the pests evolve
resistance. The evolution of the pesticide
resistance is simply natural selection in
action. It is almost certain to occur when
vast numbers of a genetically wvariable
population are killed. One or a few
individuals may be unusually resistant
(perhaps because they possess an enzyme
that can detoxify the pesticide). If the
pesticide is applied repeatedly, each
successive generation of the pest will
contain a larger proportion of resistant |
individuals. Pests typically have a hi k
intrinsic rate of reproduction, and so gfé"w
individuals in one’generation n;agﬁgﬁve rise
to hundreds or thousaf’ds% the next, and
resistance spreads” very ‘rapidly in a

population.

This problem was often ignored in
the past, even though the first case of DDT
(dichlorodiphenyltrichloroethane) resistance
was reported as early as 1946. There is an
exponential increase in the number of
invertebrates that have evolved resistance

and in the number of pesticides against

SCS-2 (A

which resistance has evolved. Resistance
has been recorded in every family of
arthropod pests (including dipterans such as
mosquitoes and house flies, as well as
beetles, moths, wasps, fleas, lice and mites)
as well as in weeds and plant pathogens.
Take the Alabama leaf worm, a moth pest of
cotton, as an example. It has developed
resistance in one or more regions of the
world to aldrin, DDT, dieldrin, endrin,

lindane and toxaphene,

If chemical pesticides brought
nothing but ;(ablems — if their use was
mtrmsmau} and acutely unsustainable —
‘t‘ﬁen‘they would already have fallen out of
widespread use. This has not happened.
Instead, their rate of production has
increased rapidly. The ratio of cost to benefit
for the individual agricultural producer has
remained in favour of pesticide use. In the
USA, insecticides have been estimated to
benefit the agricultural products to the tune

of around $5 for every $1 spent.

Moreover, in many poorer countries,
the prospect of imminent mass starvation,
or of an epidemic disease, are so frightening
that the social and health costs of using
pesticides have to be ignored. In general, the

-2)
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use of pesticides is justified by objective | 2. With reference to the passage,
o S ’ consider the following statements :
measures such as ‘lives saved’, ‘economic
efficiency of food production’ and ‘total food 1. Use of chemical pesticides has
produced’. In these very fundamental become imperative in all the poor
senses, their use may be described as countries of the world.
sustainable. In practice, sustainability 2. Chemical pesticides should not
depends on continually developing new have any role in sustainable
pesticides that keep at least one step ahead agriculture.
of the pests — pesticides that are less 3. One pest can develop resistance
persistent, biodegradable and more to many pesticides.
SOGERETAnGpNta at hbipapas Which of the statements given above
is/are correct ?
1. “The evolution of the pesticide (a) 1and 2 only
resistance is simply natural selection A
in action.” What does it actually (b).:3 only \ ) v"
imply ? (c).» 1 and"3 only
(a) It is very natural for many @ Jpiiand 3
organisms to have pesticide:
resistance. 7 V
\ 3. Though the problems associated with
(&) - Pesticide. . N sféuice Song the use of chemical pesticides is
o ekl i:s;) LV RS known for a long time, their
S Ehaminon widespread use has not waned. Why ?
(a) Alternatives to chemical
(¢) Some individuals in any given pesticides do not exist at all.
population show resistance after
SR by (b) New pesticides are not invented
the application of pesticides.
at all.
(d) None of the statements (a), (b) (c) Pesticides are biodegradable.
and (c) given above is correct.
(d) None of the statements (a), (b)
and (c) given above is correct.
SCS-2 (A-3) |
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4. How do pesticides act as agents for the
selection of resistant individuals in
any pest population ?

1. It is possible that in a pest
population the individuals will
behave differently due to their
genetic makeup.

2. Pests do possess the ability to
detoxify the pesticides.

3. Evolution of pesticide resistance
is equally distributed in the pest
population.

Which of the statements given above
is/are correct ?

(a) 1only

(b) 1and 2 only
(¢c) 3only

(d 1,2and3

5. Why is the use of chemical pesticides
generally justified by giving the
examples of poor and developing
countries ?

1. Developed countries can afford to

do away with use of pesticides by |

adapting to organic farming, but
it is imperative for poor” and
developing ‘@ountriess to . use
chemieal pesticides.”

2. In poor and .de{;eloping countries,
the pesticide addresses the
problem of epidemic diseases of
crops and eases the food problem.

3. The social and health costs of
pesticide use are generally

ignored in poor and developing
countries.

Which of the statements given above
is/are correct ?

(a) 1only
(b) -1 and 2 only
(c) 2only
(d 1,2and3
SCS-2 (A -

6. What does the passage imply ?

(a) Alternative options to chemical
pesticides should be promoted.

(b) Too much use of chemicals is not
good for the ecosystem.

(c) There is no scope for the
improvement of pesticides and
making their use sustainable.

(d) Both the statements (a) and (b)
above are correct.

Read the following passage and answer
the Question Nos. 7 to 9 given below :

Education, ‘without a doubt, has an
important fangfional, instrumental and
util_itaria‘a:d‘fgension. This is revealed when

_ofie asks questions such as ‘what is the

\ﬁﬁéose of education?. The answers, too
often, are ‘to acquire qualifications for
employment/upward mobility’, ‘wider/higher
(in terms of income) opportunities’, and ‘to
meet the needs for trained human power in
diverse fields for national development’. But
in its deepest sense education is not
instrumentalist. That is to say, it is not to
be justified outside of itself because it leads
to the acquisition of formal skills or of
certain desired psychological-social
attributes. It must be respected in itself.
Education is thus not a commodity to be
acquired or possessed and then used, but a
process of inestimable importance to
individuals and society, although it can and

4)
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does have enormous use value. Education
then, is a process of expansion and
conversion, not in the sense of conversion —
turning students into doctors or engineers,
but the widening and turning out of the
mind — the creation, sustenance and
development of self-critical awareness and
independence of thought. It is an inner
process of moral-intellectual development.

7. What do you understand by the
‘instrumentalist’ view of education ?

(a) Education 1is functional and
utilitarian in its purposes.

(b) Education is meant to fulfil
human needs.

(¢) The purpose of education is to
train the human intellect.

(d) Education is meant to achieve
moral development..
1 { A .‘{’/“? , <
b \'-:.; v/
: N g
8. According to the passage, eduecation
must be respected in itself because

(a) it helps to acquire qualifications
for employment.

(b) it helps in upward mobility and
acquiring social status.

(¢) itis an inner process of moral and
intellectual development.

(d) All the (a), (b) and (c) given above

are correct in this context.

SCS-2
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9. Education is a process in which

(a) students are converted into

trained professionals.

(b) opportunities for higher income
are generated.

(c) qualifications for
mobility are acquired.

upward

(d) individuals develop self-critical
awareness and independence of
thought.

Read the following passage and answer
the Question Nos. 10 to 12 given below :

The first step is for us to realize that
a city need not be a frustrater of life; it can
be among other thi X\ mechanism for
ife, for‘er ucing possibilities of

sl/elﬁbﬁte and drastic planning is needed.

Towns, as much as animals, must have their

| systems of organs — those for transport and

circulation are an obvious example. What
we need now are organ systems for
recreation, leisure, culture, community
expression. This means abundance of open
space, easy access to unspoilt nature, beauty
in parks and in fine buildings, gymnasia
and swimming baths and recreation

grounds in plenty, central spaces for

| celebrations and demonstrations, halls for

concert halls and
theatres and cinemas that belong to the city.
And the buildings must not be built anyhow

citizens’ meetings,

5)




or dumped down anywhere; both they and
their groupings should mean something
important to the people of the place.

10. The author talks about “unspoilt
nature”. In what way can nature
remain unspoilt ?

(a) If nature is not allowed to
interfere with people’s day-to-day
life.

By building cities with the

system of organs like those of

animals.

(b)

(¢) By allowing free access to parks
and open spaces.

By allowing nature to retain its
primitive, undomesticated

(d)

character.
11. Which one of the following has the
opposite meaning to the word

‘frustrater’ in the passage ?

(a) Promoter

(b) Applauder .

(¢) Approver o

(d) Executor | R 4

12. “... the buildings@mu‘:;: not- be built

anyhow or domped down anywhere

w... The “statement implies that

buildings

(a) should be built with suitable
material.

should be constructed, according
to some suitable design, not
indiscriminately.

(b)

(¢) should be scattered to provide for
more of open space.

(d) should be built to enable citizens

to enjoy nature.

SCS-2

(A -

13. Choose the word which is the exact
opposite of the word “ABLE”.

(a)
(b)
(¢) Unable

(d) Misable

Disable
Inable

Directions for Question Nos. 14 and 15 :

Give the Opposite meaning of the underlined
word.

14. Though his view his
behaviop\x:as impertinent.

(Q&ga}thy

v \
(b) . respectful

is correct,

(¢) inadequate

(d) smooth

15. The manager is quite tactful and
handles

effectively.

the workers union very

(a)
(b)

disciplined
loose
(¢) strict

naive

(d)

6)
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Directions for Question Nos. 16 to 18 :

Find out the appropriate meaning of the
given word from the choices given below it.

16. Chattel
(a) Movable personal possession
(b) Barrister’s wig
(c) Obligation

(d) Piece of land

17. Subpoena
(a) Punishment
(b) Delay
(¢) Summons "N { X

(d) Ban ;

18. Recidivist
(a) Defendant
(b) Hermit
(¢) Long term prisoner

(d) Frequent law breaker

SCS-2

Directions for Question Nos. 19 and 20 :
Choose the most appropriate option.

19. Did you have lunch at home
yesterday ?

(a) No, I haven't.
(b) No, I hadn’t.
(¢) No,Ididn’t.
(d) No, I don't.

20. Where do you live ?
(a) At 45 Green Street, London.
(b) On 45 Green Street, London.
(c) In 45 Green Street, London.
(d) From 45 Green Street, London.

Directions for Question th}!l and 22 :

Which of phrases give;@b} each sentence
should replace, the “énderlined phrase to
make it griminalically. correct ? If the
sentence is correct.as ‘it is, mark ‘D’ as the
ansu’.}‘g&/

“21. Ramesh is as tall if not, taller than

Mahesh.

(a) not as tall but

(b) not so tall but as

(c) as tall as, if not

(d) No correction required

22. They examined both the samples
very carefully but failed to detect
any difference in them.

(a) any difference between
(b) some difference between
(c) some difference in

(d) No correetion required

|
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I8 189 Ug 3 ug w3 ygz 3. 23 F27 8
639 135 1

‘Ay’ gt T gfeni=t g TaHisd
gfe g I | fem T Hes g W3
oy & wifoswa mifr 3 1 ARy
feg feo woe #Hies &t woH-ysa
fenrfir &% 7t 3¢t § w3 Hiws T
wiPTSHa JUTSIE T HISY UH Fae
T | Iz fusr 3 few g9 feg =93 a®
fauiza Hasy fea famew T faawe
JIe Is fam § wHf soH-wH3d yET
T EH € AIe T | IS AHfar feg I
fr fem MY ydu § s wared fg
e 72 | fer 998 T HO=e WAd
Woy &t Hews 3 w9 I, »ows ¥ nig
T WaY wEl B3 -fHa gu fae U3y &t |
THI= few 79 ¥ f28 ofoe T WEM
dEB WS G & IH § AHY AT
I 1 2 A T wfoz W3 IEfaest &
€3 »yE &9 <t Hews s A
A9Ed g AaeT J | feg 9 & fa
At &t g 58 wHg & Bt A
fem € am-w9E 39 WE ude & |
He 3 feg I fa few su feu aw
fAgasadt €@ Hugs a® At I I |
a3 fvgr o feg fan famen = foan<
13 fapr T BW T AT IHT 38 TZIT
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Jd | mHY 39 3 fem & Ao qfoe
35 et fem & fed woH-THIS WSS
(theological model) TH THST YA |

23. fom Iy feu =<t & foodt suo
g9 35 it aret T 2
(a) TJIH HHSII H'SB
(b) fAO3a Aasy
(c) TIH HSH
(d) wyHt

S

24, MAd War ¥ HEH § ¥ € w9y
fa§" mg &t w39 2

1. J9 Wa € HEY MuS War of
IHT HHS HIST T |

2. w3t &t g w fAgAsadt
Heds J |

3. ¥t T I7 w9y &1 fHse |

4. T & IE vEedt WHE 3 Wg
J I

Sudaz aust fed fagz wdt 95 2
(a) fAge 1
(b) 173 2
(¢) 3M3 4
(d 23 4
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TIH-HTH3ST U338

Bu3az Ug = g ey ot J 7
(a) Hg»rfuﬂ?sé’rmﬁhw

(b) 7Y yI HIT

0 7Y <t fegguar

(@ =21 < gofHa I=5T

26.

27. HH™ HEE T o »3g J ?

1. e

2. Tge

3. sZE

4. fagur N\
Iot foir o wdt @59 9@ -
(a) TS 2

(b) 13 2

(e) 3M3I 4

d) oS 4

95 159 03 3 vz w3 yuz 3. 28 F30 &
635135 /

fagz § fdeaft & w3 wrfier &
AT J | g9 <t Y9t a5 fiedft feg
Haflz Exds I Bar U= 7 | fouls

SCS-2
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Hies & =avs w3 fgurdle #Hies §
AIY wirfenT 7 Aaer I | fHasdt, I
3 foumfls d= Fga fams § wodt &
3 nifer A Sar fir | ¥y few
A<Jd AH d'H < @965 § 09 3 fegsas ©
iz 7 & »Eg Hfewr e H | T,
udt w3 uidt 2@ Afgnrgga-fendfent
3 TInge Tl yad3 & ugy d9%
Tt fifin & 37 ot &t GHa & T
ot afg o feg Hos HuEs § FEU
A3 Jfewr |t | fugs3 feg wmudt A
e 3t I | dadt feams Tondie
fams & 838 mHSS I | WE-dG
et § wizudl (39 3 <&t v fem
Heft3 mes & e 3 w3 8 = wiegs
Hoffg, U839 998 AHU3 Jer 77
fgor J.r'nig € oY &t nrew fed I
HERl I It T | AC I IS U faHs
ST @B d6 '3 98 I F FFt kT
der |t 37 fdesft & Iz € wfgw &
de9 J 7€ " | sc-8< f&a-f&a =-
35 feafoni® 35 fegms <t Anfgdt ¥9
gt 24t fomrs § maer I | fensdt w3
g9z &t F@3fiazT =@ WHe3T gt
I T | 3, B i3 AEfgEt € BAS &
YIH w7 Ager J | fensdt g
HH & 593 vt 7 AT 9 1 29
fagt &t Tonfes yudt w3 agsfie
893 J fg gog<t & Anfgdt, femsdt =
yfgdt efar ve 3 Afsag go<t J |
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28. UJ wfgAw fiedft a2 898 &df Jt

32

1. fyasdt aw € JIv ISfer
Jfen™ |

2. #< ies faurdle Jor T |

3. feadt famrs S I8t 995
55 |

4. &1, &9 w3 AAGS € AEB
5 |

Jat foy feg €39 9<€ -

(a) 1M3 4

(b) 2m3 4

(c) =T 1

(d) 93 3

29, HBR! WET T ot »igy J ?
1. foesw=
2. UESHA
Iot fou fod =9 go -
(a) =T 1
(b) I=T 2 -
(c) d=I 3
d 1733
30. UJ »zwg WS Wi fam T =9ws §
H Hfen famr & 2
(a) I
(b) ut
(e) yTdt
(d FH

SCS-2

I3 B3 UF S ug w3 YF& 3. 31 34 @
ecarcal

avs fema o feg Aasy g9t =9
mHH yTs foufaw & #hvr & u9 a9
Jer I | famarst 5 fen fema @ Hasy
& HE-Hfgner, §9-3l8 3 yT9ed
QuiersT @ g9 vt »rSEg 3 faady
g99d 9] fon3 = yIiHs s fesr
d | wg fomsr fersdt-woe AdT §
399 3 HI3 JId HITHST W3 HI3IIT ©
7938 3 ¥FT 99 v J | 26 fimg 3
fed wEgH-H8 ¥ d UH FI&T
f?wwa‘?“ﬁ:e@zﬁ%we*m%ﬁ
Aefldedh ygr € fagd 38 wee feddt
Hehdt aoft wdesT a9er T |

IJEH dfes fdmr AHt-yd fes
fimmg & feg wmean gy & ywH3I3
Ifenm | w3 Tt © wo feu umet o
HHT & ug <1 3FelT ¥ T Ha fiser
J | y§ 99 Hfgg € = = U39 H |
feq fosgas & € v f939 sofonr
w3 AeWe’ € 88 3B HgES § Ud
g3 HAT € "fgg »r famr | y§ @ 939
A3 BF & »my@ Jast fo3at &t sufen
el | Tyt At § ug v 939 e
T Har fufen |y & Indle ufen
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Jt 7t ® wa feg fimrg Uer Sfewr |
e At € fema = w»ug TH3fes
foradt a7 3§ & fea agfags I fam §

gea o fagnesHa asus & ud &
IS T gy feuw Aa9 a9 fes Ht |

31.

32.

SCS-2

Ug »fgH9 fdAaat & AHH AIHS

fimg g fam gu fes tw #i37 J 2

1. fimg e »iggm gy |

2. Tensdt w3 Hoe &t soudt <3
Ha3 |

3. wdfigedt ygr & 433 |

4. y=9y Qusazr feu fauz
fumrg |

J&t four fed mft €39 g€ ¢

(a) I3 1

(b) 173 2

(¢) 2M3 3

@ 33 4

aHS ferag 3 St 3= T 2
1. fema o=t

2. fema fHat

3. femg gomat

4. fema faaHat

Jo fou feg fagg vt €39 7 2
(a) =T 1

(b) =S 3

(c) 273 4

d 1433

33. I99 HET € A »dg I ?

1. H3®Y
2. HA9H
3. faudt
4. BEI3

5t fou fed fagg wft €39 9 2
(a) IATB 1

(b) 273 4

() lb@% \-

) 33 4

34. U3 »igAd AHT © fema = o »ag

2
1. Th3fea feoradt
9. au-fags

3. a@ag o fHanaIH IBUET
It oy g fagzr vt €39 9 2
(a) 173 2
(b) 23 3
() =B 3

d 1,273 3
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35. J& fofimi feg faog wue ‘B’ | 38. Iz feofim® fog fagg/fags wue

HEE € AHS-MJEd 6 ? Hy Uardt feu fou 32 95 2
1. f9339 A
9. faaaie LI
3. fsam 2. fe3awa
4. QuaH | 3. feamnfsa
J& fog feg €739 9¢ -
8 Ly 4. Hfgx
(a) d<B 1
b) 2m3 3 J&' feu fod wdt €539 92 -
(€ 1,23 3 (@) 1M3 2
@ 1,2,8 M3 4
(b) 1,3 M3 4
36. J5 feu fed faoz maw »@fag 9%
HYE € AHS-MIEd 397 J 2 (?;\3 &
(a) WBIT W Y@ frge 4
(b) MgaT
© -z p
@ =fon™y > _ o 39. I3 f3fimi fe§ Moral Turpitude T
31. 35 fofor fed faomfd wee| T MeRE A 32
Hy dt feu foy 98 95 2 1 Xfam uygs
1. HJg
. 2. Towmdt fogree
3. yfsws J5 fox fed ndt €739 3¢ -
4. fufenrdt y
; B Iy (a) d=3 1
J5t fou feg mdt €39 9€ -
@ 1732 (b) AT 2
() 2,3 3 4 @ 1932
(0 8 M3 4
@ fHIe 4 (d ot =t &t
SCS-2 (A-12)
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40. Iz fofiut feg fagz wigee A
J 2

1. ™M<d3d Hdd
(Recurring Expenditure)

2. W93 ¥I9
(Unforeseen Expenditure)

3. MHAYUJS Hd9
(Extraordinary Expenditure)

J&' feu feg faoz vt €39 7 2
(a) I 1

(b) =B 3

(© 293 3

@ 1,23 3

41. H3J3 @y o &t bﬁaﬁ ?
50 . ®
(a) JIB-I& o 9
(b) WA
(c) €M9

(d) Ty

42. foud wee = ot w9w J 2
(a) fema
(b) fezug
(c) It
@ foas

SCS-2 (A-13)

43.

45.

“TFz &t 5t &7 HfamT, yg 8 &t

gdt vfa™ v wdt wigw faasr

I

(a) "MyE BE J¥ & BET uI
gfew et 35 wize |

(b) MUET HWTE U U
fonrfent § 3aft fow Fue |

(c) MW WIH JI&T Ug "femt 3
Hagd! Ja8e |

d MY 9-3¢ d JIIT U9
fontfent™ § &3 & <2 |

“Fag B o3 a7 = mR I=
fagaT 307

(a) THI I BE 9IS BArge"

b "ME 3B vt g I § 39
&7 I35

(¢ <08 W& 3 T737 T 29 T
(d) oH J9& fev It &7 Jer

Proclaimed offender & HJt UaTdt
wgee faagr T 2

(a) fewfaa<t v
(b) HZ T HAGH
() W& = a<t
@ ferfaordt a<ht
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Directions for Question Nos. 46 to 48 :

Each question presents a situation and asks
you to make a judgment regarding that
particular situation. Choose an answer

based on the given information.

46. The School Principal has received
about

bullying in the school yard during

complaints from parents
recess. He wants to investigate and
end this situation as soon as possible,
so he has asked the recess aides to
watch closely. Which situation should

the recess aides report to the

Principal ?

(a) A girl is sitting glamly on a befnek
reading &, beok qp&” " not
interacting with hap peers.

-
(b) Four girls are surrounding
another girl and seem to have

possession of her back pack.

(¢) Two boys playing

one-on-one game of basketball

are a

and are arguing over the last

basket scored.

(d) Three boys are huddled over a
handheld videogame, which isn’t
supposed to be on the school

grounds.
SCSs-2

http://www.kh

YrE 3. 46 F48 2 B gefez:

IJT YHS Bd Ylgrfast eamger J, MH
feg wy @8 Ha € HIEa o 8T
g1 I 3 ez € myg 3 €39
ge /

46. W3s < fitus § dfowt € wsT-
fuzr 2B »ft-8& J95 "I fu
Jg | BT fem & uzz® F99,
fer AHfmr § Fe<t-3-78<t u3H
F95 9 J | fem = Gms
widft-gdt @8 mofear § feaaat
Sz F fagr | Is fefmrt fed
o et wift-g ¥ Ao
<8 Afhug ¢ fors feg forBt
gt T 2

(a) fEa Bzt Guft feg 89 3 &
3 fazg ug It I »F e
I &% IAS-¥'3 Bl I9
gt |

g9 s ffa sIAt ©
MB-TNS I W3 S’ J fa
G aa 85 am 9 |

€ B3d wuyn feu THfdeTs
Y3 39 I& M3 wiydt mag €73
gfgr 9 3J T3 |

dfs€ I § Ba a@-I5 I
g5 75, 7 fa mgs 3983 fev
& I Tfter |

¥
fl

(b)
(e)

(d)

(A-14)

ilare.com
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47.

SCS-2

Ms. Carson took a taxi to meet her
three friends for lunch. They were
waiting for her outside the restaurant
when she pulled up in the car. She
was so excited to see her friends that
she left her bag in the taxi. As the taxi
pulled away, she and her friends took
notice of the number plate so they
would be able to identify the car when
they call the taxi company.

1. The four women seem to agree
that the number plate starts out
with the letter J.

2. Three of them agree that the
number plate ends with 12L.

3. Three of them think that the
second letter is X, and a dlﬂerent
three think that the &Ird letter is

K. »’

The
represent what each of the four
women thinks she saw. Which one is
most likely the number plate of the

four number plates below

taxi ?

(a) JXK12L
(b) JYK 12L
() JXK 121

(d) JXX12L

47.

(A-15)

3 &9 3 fuse ¢t St it | 7
89 2ot few €7 uJdt 37 Inede
T g9 St wadshat Gne
St @ g ws | G nruShr
RISk § 29 ¥ fEdt 83z T ardh
fa St feg wue 91 f 3
et | A< caHt 7 ot ft, € w3
St a3 St € ds9

ySe § <ftr 3 7 St &t duat
& THe Bt ot &t v I A |

1. 99 w3z fem I8 I wlows
5 fa 399 uBe »ivyg J 3 HY
JHO Y

5 Oai fed fs W= T5 fa
&99 uBe € npfls few 1219 |

3. B fe5 fd5 medh® T5 fa
o g X I o3 bt
35 et I8 fa Siar »iug
KT

Jadht I 7 fa 397 fe9 9 f&a

na3 & AY wigAg Sfan | fegt

feg faodt 399 y&e, carft <t &59

ySe Jd< &t A3 3 <u HI=sT J 2

(a) JXK12L

(b) JYK 12L

(c) JXK 121

(d) JXX12L
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Naveen, an accomplished pastry chef
who is well-known for his artistic and
exquisite wedding cakes, opened a
bakery one year ago and is surprised
that his business has been so slow. A
consultant he hired to conduct market
research has reported that the local
population doesn’t think of his shop as
one they would visit on a daily basis
but rather a place they’d visit if they
were celebrating a special occasion.
Which of the following strategies
should Naveen employ to increase his
daily business ?

(a) Making coupons available that

entitle the coupon holder to

receive a 25% discount on
wedding, anniversary, or
_ birthday cakes.

(b) Exhibiting at the next Bridal

Expo and having pieces of one of

his wedding cakes available for “

tasting.

Placing a series of ads.in the Tocal
newspaper | that advertise _the
wide array of breads.

Moving  the bidkery to the other
side of town.

(c)

(d)

Directions for Question Nos. 49 to 52 :

Each question consists of two words which
have a certain relationship to each other
followed by four pairs of related words.
Select the pair which has the same
relationship as that of the words gwen in the
guestion.

fenrg, F-fagr

O 3 25% B¢ €< |
(bmh@a"rﬁvmwaﬁaﬁ?ﬁaﬂué
» T y=andt sarfer w3 ferg @
a9 ¥ 293 d¥e set Qumen
e |
8as wyg9 few 99 Y9 ¢
¥ 3 Hedl 2y-Jy fenfsoa

(e)

BUGS |
@ wfgg T T8 UH gadt fige
Ecrll
YHE 3. 49 352 € B gefe:

I YHS € HEET T glewT JfEwT I,
1737 € WUF o9 H9g J | BF 3 e
HEE" &7 §7T 7FT 18P TE | G5
fed Bg 731 g fmer yF3 fev 23
HES" T8 Hyq J= |

49. Bfaa: gumat
49. ?’l;.mgane:Spl(;::u&:ll (@) : 33—’:{3 oy
a ommon : Ghostly
(b) Worldly : Unworldly (b) Sfenrs] m
(¢) Routine : Novel (c) §é1—5 : O
(d) Secular : Clerical (d TIHfEaY : yedt 575 Refuz
SCS-2 (A-16)
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50. Filter: Water 50. femes:.u<ht
(b) Expunge : Book b f
(¢) Edit: Text .
(d) Censor : Play © e
(d) HAG J9&T : &ed
51. Symphony d Composer i . Fhaft
(a) Leonardo : Music R
(b) Fresco : Painter (@) :
(¢) Colours : Pallet (b) IIHR : 39
(d) Art: Appreciation (¢) Jar: Jar <t S
(@) BT : YHAT
52. Diva: Opera
(a) Producer : Theatre 52. WY arfear 3‘?:5' &
(b) Director : Drama (a) TEDIIT . E'?EH[&I’[B‘T@EU
(¢) Thespian: Play W fsao2ma . 3IHT
(d) Conductor : Bus (o) wifssITmifssadt - aed
A\ ¥ (d) 59T : °H
53. Find the missing numbews'in the
following series. v 4 3 B
1, 6, 36, 240' 1960, _?— 53- 33 m ﬁﬁ B@I l
(a) 19660 1, 6, 36, 240, 1960, ?
(b) 3680 (a) 19660
(c) 36800 (b) 3680
(d) 19600
54. Identify the letter series and find the | 54. gt & =t ?;5 yge w3 I3
missing letter in the following. fafimi fag arfes »iug 9 |
i BUL CRW, DWY, 2 AZY, BUT, CXW, DWV, 2
(a) EVU (@) EVU
(b) BVU (b) BVU
(¢ EWV (¢) EWV
(d EWX - (d) EWX
SCS-2 (A-17)
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55.

56.

57.

SCS-2

. b e
b+e c+a . a+

If

g then each of

them is equal to

(a) (a+b+c)?
B L
(¢) O

(d)

B | =

Two trains are moving in the same
direction. A person in the slower train
observes the faster train pass him in
25 seconds. And a person in the faster
train observes the slower train pass in
40 seconds. What is the ratio of the

lengths of the slower train to that of,

the faster one ?
(a) 4:5
(b) 8:5
() 6:5
(d 3:5

There are 4 women and 4 men. They
have to be arranged around a circular
table such that no two women sit
together. How many ways are there to
perform the werk ?

(a) 576

(b) 144

() 72

(d) None of these

55.

57.

(A-18)

3 e = b Sxils , I g9
b+ec c+a a+hb
fog 9999 J=ar
(@ (a+b+c)?
1
b) =
: 4
(e) O
1
d =
2

T IB TS fea fewr feu <=
It I3 | J& 9% It IS TiEt
feg Sfonr wmaft Syer  fa 39
3% gdt it 25 Afds few 8R 35
W A T | M3 39 I8 St fe9
afaut wraft Sver 3 fa 35t 9
51 3% diFt 40 Afdz feu Swh
It It 9% ot oS & SuEt =
39 9% I ft It &t sEE I
wEu3 ft I 2

(a) 4:5

(b) 8:5

(¢) 6:5

(d 3:5

99 Wd3T w9 I9 »eHt 35 | OF
$ 98 Ha T -8 fen 3g
fes@er 9 3 fg adt & wigst
feasm® & 83 | fem an § o<
T fds 3dla 75 2

(a) 576

(b) 144

(c) 72
@ ot s
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58.

59.

60.

SCs-2

6 friends are playing a card game.
Sunil and Ram are facing each other.
Ram is to the left of Aman and to the
right of Pranav. Aman is to the left of
Dheeraj. If Yogesh and Dheeraj
interchange their places and so do
Pranav and Ram, then who will be
sitting to the left of Dheeraj ?

(a)
(b)

Ram
Sunil
(¢) Pranav

(d) Yogesh

Two students appeared in an
examination. One of them secured
9 marks more than the other and his
marks were 56% of the sum of their
marks. What are the marks obtained
by them ?

(a) 42,33

(b) 42, 36

(c) 44,33

(d) 44, 36

In an election between two candidates,
one got 55% of the total valid votes.
20% of the votes were invalid. If the
total number of votes was 7500, what
was the number of valid votes that the
other candidate got ?

(a) 2800
(b) 2700
(e) 2100
(d) 2500

58,

59.

(A=-19)

6 OH3 3'H U3 IJ I& | HAS M3
IH feg ga € wOR-AOHE TS |
IH, MHS € 48 UH I w3 yI= ¥
HH UH | M, dtod € 98
I | 799 G w3 diaw wmyShert
g oyr feg sos 8 w3 fen
3 yEE 3 TH &, 3 dlaw 2
v8 YR d< §37 I ?

(a) I

(b) HISB

() YS=
(d) GIH

< fefenradling®™ 5 fenfags fiosr |
85h fEdfea 5 g7d 3 9 la =
BeidEaT € A7 T 56% HI | ST
g fdE wig yuz i3 I 2
(a) 42,33

(b) 42,36

(c) 44,33

(d) 44,36

< Sfleee € Se-waed feu fea
S I8 wdt 2 feF 55% T Y3
Jer | 20% I AS s mE |
Hed 98 ¥ 7500 WS, 3 THO
fHahort 2
(a) 2800
(b) 2700

(c) 2100
(d) 2500
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61.

62.

SCSs-2

John and Dani go for an interview for
two vacancies. The probability for the

selection of John is %, whereas the

probability for the selection of Dani is

%. What is the probability that none

of them are selected ?

(a)
(b)
(c)

(d)

A and B entered into a partnership
investing ¥ 16,000 and ¥ 12,000
respectively. After 3 months, A
withdrew ¥ 5,000 while B invested

z 5,000 more. After 3 more months, €] :

joins the business with a ecapital of"
¥ 21,000. The share of B exceeds that
of C, out of a total profit of«® 26,400
after one year, by i

(a) ¥ 3,200 o

(b) = 3,400

(e) ¥ 3,600

(d) = 3,800

A family consists of two grandparents,
two parents and three grandchildren.
The average age of the grandparents
is 67 years, that of the parents is
35 years and that of the grandchildren
is 6 years. What is the average age of
the family ?

(a) 28% years

(b) 31% years

(c)
(d)

i !
32=

> years
None of these
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62.

(A-20)

Spar

<

A6 M3 BT © uF oA &
fécafe =t a® | H5 € ¥ 7
e"rﬁawew%%»@we?g%
Weﬁﬁawéﬁrﬁﬁaﬁé
& g A &t oft Ages I 2

(a)

(b)

—
iz
—

‘fﬁai‘éi“'“alwmw“
A o =

g

8

&I}

3

Ta3

oY
A4
bl
—
=]
<
o
‘a4

Udft Zardt | fea A5 g O
B9 T 26,400 feg B v faar famr
C &8 2fpmT ?

(a) ¥ 3,200

() ¥ 3,400

(¢) ¥ 3,600

(d ¥ 3,800

feg ufges few € =3 =gaar

HS-fU3™ (parents) & #HI 1T
w3 8¢ dfonr &t wns




64.

65.

Present ages of Sameer and Anand are
in the ratio of 5 : 4 respectively. Three
years hence, the ratio of their ages will
become 11 : 9 respectively. What is
Anand’s present age in years ?

(a) 24

(b) 27

(c) 40

(d) 30

(% - %) is added to a number. From

the sum so obtained, ~;— of l s

4
subtracted and the remainder is

[l + l} The number is

3 4
7
(a) ﬁ
(b) * 2
12 gl {" ,‘/
1 P 7 1
(c) Z e
. ;
d s
(d) 1

If Sam can do a job in 4 days that Lisa

can do in 6 days and Tom can do in
2 days, how long would the job take if
Sam, Lisa and Tom worked together to

eit?

A

=21 )

J= =a3ns feu mite w3 wide &
81T T wEU3 gHET 5:4 T |
f3s s gwe S0 & O =
WBEUTS FHEG 11:9 J A<dlr | I
wide &t Qe (wt few) faat 9 2
(a) 24
(b) 27
(e) 40
@ 30

3
%|f8ﬁﬁ3f€é‘%e*%umfew
A Y w3 M(1+ija‘ﬁ*
3 g e e
(@2/115
(b) 115
(c) i
(d)-i—

"o AW feq a0 § 4 oo’ feu a9
Hawr J, BF & &9 6 fos few &
et 3 w3 v €mg 2 fest fem
9 HIE' J | IH § YIT 96 BEl
fdar AHT Sder & AW, I w3
2H feds I J9< 2

(a) 0.8fgx

(b) 1.09fed

© 123fe

@ 1.65fea
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Directions for Question Nos. 67 to 70 : yga 3. 67 370 € B gEET

A school has four Sections A, B, Cand D of | fogr mam® g 38 ax a3 €
Class IX students. fefouradn’ & A B, C M3 D FT
The results of half-yearly and annual | B J& /

examinations are shown in the table given et w3 agfha EHETE o 3357

below : Iz 15t It feg fofew fapy 3 -
‘ A
Number of students &3 Raws | faws | faws | A9Es
A B 9 D
Result éa.;
Section|Section|Section|Secti :
eAmn er;s ion cC ion eDlon m 98 95 11 27
fefenradt
Students failed in| ¢ a9 T, 97 fEﬂ-F?ﬁ fes
both Exams e, ud
Students failed in i fog 14 12 8 13
majfiyearly but 1 |12 | 8 % 13 R I8
passed in Annual Farfemrrasit €M
IExams A .k
Students passed MM
in half-yearly but 6 17 9 15 UG
failed in Annual L [N TSSO 6 17 9 15
Exams . ydtfemr feg
i 4 e
: tudents passed 64 55 48" 76 fefonrasht
in both Exams :
A oy
fenfaas
& 64 7
feg ym g2 o % 0
67. How many students are there in | | ffemadt
. ? -
Class IX in the school ! 67. "as fev X (3F) 7ws feu i
{a), 846 fefenradt a5 2
L (b) 189
(d) 430 (¢) 335
(d) 430

68. Which section has the maximum pass | 68. € foufaost fed fam foea fev
percentage in at least one of the two fag3 Aaws < u'w ){%ﬂg g 3

examinations ? Crad i

(a) Section A () PNEEE A

(b) Section B ®) HIHS B

(e¢) Section C (¢ BaHs C

(d) Section D @ BeEs D
SCS-2 (A-22)
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fqo3 fiagms &t e feufsas

69. Which section has the maximum | g9.
success rate in annual examination ? f=g FHEHt ©9 A § S0 3 ?
(a) Section A @) For A
(b) Section B 2 ; 3
(¢) Section C ( e -
(d) SectionD (Z)) %I SHSO o
70. W.hiCh sectif)n has the minimum | 7¢, faa=2 flags ot ﬁs"ﬁ-i"?ﬁ fexfsas
fmlur'e 1':1.t¢:'1 ;n half-yearly feg 2, S At og We 3wz o
examination ? 2
(a) Section A AG A
(b) Section B (b) HIHG B
(¢) SectionC (c) HIWS C
(d) Section D FaHs D
7. 793 A+B T »dg J fd A,B &
71. If A + B means A is the brother of B; Wﬁ'A—BE”W%ﬁA,BE&
A — B means A is the sister of B and %E%,W@AXBET AfrAB
A x B means A is the father of B. g x IS 3
Which of the following means that C is T fug a .l. 3 feg 98 {9 faas
the son of M ? T 8, Ma O, M T Y39 J ?
(a) M-NxC+F (a) M-NxC+F
(b)) F-C+NxM (b) F=eC+NxM
(¢ N+M-FxC (e N+M-FxC
(d) MxN-C+F (dd MxN-C+F
; b 72. arfeg (fufiar) &9 &9 |
72. Find the missing number: 112, 111, 119, 92, 156, 31, 2
112, 111, 119, 92, 156, 31, _2_ @) 245 .
(a) 245 (b) 247
(b) 247 (c) 241
) el (@ 249
(d) 249
73. T8 yws 93 2 Sfomr I 88 faozr
78. Which number replaces the question 399 Wt au few fofir JTr
mark ? grdter T2
1 2197 1728 1 2197 1728
125| 11 | 8 | |4096| 58 (2744| |512| ? (1331} | |105( 11 | 8 | [4096| 58 |2744] |[512| ? [1831
27 3375 729 o7 S91s 0
(a) 41 (a) 41
(b) 36 b) 36
() 40 (c) 40
(d) 35 @ 35
SCS-2 (A-23)
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74. In a caravan, in addition to 50 hens, | 74.
there are 45 goats and 8 camels with
some keepers. If the total number of
feet be 224 more than the number of
heads in the caravan, the number of
keepers is
(a) 5
(b) 8
(e) 10
(d) 15

75.

75. In a certain code language, ‘3a, 2b, 7¢’
means ‘Truth is eternal’; “7c, 9c, 8b, 32’
means ‘Enmity is not eternal’ and
‘Oa, 4d, 2b, 8b’ means ‘Truth does not
perish’. Which of the following means
‘enmity’ in the code language ?

(a) 3a
(b) 7c
(e) 9c
(d) 9a
76.

76. Consider the directions
Mr. A, Ms. B, Mr. C and Ms. D are
sitting around a table and discussing
their trades :

1. Mr. A sits opposite to the Cook.

2. Ms. B sits on the right of the
Barber.

3. The Washerman is to the left of
the Tailor.

4. Ms. D sits opposite to Mr. C.

What are the trades of Aand B ?

(a) Tailor and Barber

(b) Tailor and Cook

(¢) Barber and Cook

(d) Washerman and Cook

SCSs-2 (A-24)

feg grge’ feg 50 Haaf 3 fegrer

45 g3dMT, 8 B3 AHI IF TUES

I8 | 799 I8 UgT <t "o, gt

feg fagm <t fasdt 3 224 fermer

J= 3T Jyefemt ot fasdt

(a) 5

(b) 8

() 10

d 15

fan 93 I feg, 8a, 2b, 70 &

H3BE J ‘Truth is eternal’; ‘Te, 9c¢, 8b,

32 ¥ H3IBY J ‘Enmity is not

eternal’ M3 ‘Oa, 4d, 2b, 8b’ € H3BH

J “Truth does not perish’ | Js fou

feg fam = w3sy a3 Iw feu

“enmit;;’a?

*(a)  3a

(b) Tec

(c) B¢

(d) 9a

Jufest & feuq -

Mr. A, Ms.B, Mr. C M3 Ms. D feq

AT T B-ofs 85 Is M3

MUS UH HYdl 9997 99 99 IS -

1. Mr. A Y&Id © HIHS
(opposite)gw T

2. Ms.B &€t @ Ha €3t T |
Teft, Sot € ¥9 T |

4. Ms. D, Mr. C ¥ HJIHS
(opposite) ey

AM3 BT fqax3 U7 I5 2

(a) TIAT MIT ITE

(b) I M3 T=gdt

(¢) B W3 FEadt

() Tt W3 gr=gdt
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77-

78.

79.

80.

SCS-2

At what time, in minutes, between
3 o’clock and 4 o’clock, will both the
hands of a clock coincide with each
other ?

;

(a) 5ﬁ min. past 3

@) 12 win. past's
11

(e) 13i min. past 3
11

@ 161—41— pin Tt 2

A man swimming in a stream which

flows at 3—2]l km/hr, finds that in a

given time he can swim twice as far
with the stream as he can against it.
At what rate does he swim ?

(a) 12-;- ki/he

(b) 6% kb

© 10% -

(d) 8% km/hr

If 3% = 4Y = 12% then zis equal to
(a) 1

(d) =xy

Given 1176 = 2P,3%9,7". The
numerical values of p, q and r are

@2 1, 3
(b) 8.1,2
e 1,2,3
d 2,38,1

717.

78.

79.

80.

(A-25)

(d)

f3s w3 979 =9 © fegaq, fam Ad
(et feg) <5 g s 7=
T 2

(a) 5-11—11‘7-?23%;1-31
(b) 12%1’14’?3@&

© 1BLfifesHFa

11

@ 161;“1ﬁ-?23€;ra

feg wmaft st few 39 fagor I,
frodt fx 3% fagficanter <
3839 35 <f7 3t I | fa G =<t
e =T ¢ fedu 39T &8 93 wH
feg 5t 2 = 2 75 S o
3 R T 60 faw w9 ¢ &%
3T 9 T2

(@) 121faé}ﬂzamk*

(b) 6— fa@Hteander
s% fadfieanie

H3X=4Y-12% I 2 5993 J
(a) 1

by 2y i
X+y
(e) 25
Xy
(d) xy
fdgr famr 1176 = 2P. 39, 77 J 3T p,
QM3 r T WI-HS I
@ 2,1,3
(b) 3,1,2
€ 1,2,8
@ 23,1

-
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PUNJAB PUBLIC SERVICE COMMISSION

PUNIJAB STATE CIVIL SERVICES COMBINED COMPETITIVE (PRELIMINARY) EXAMINATION,
2013

ANSWER KEY
Paper i Series - A
Q. No. Ans Q. No. Ans Q. No. Ans Q. No. Ans
1 C 26 A 51 B 76 B
2 B 27 B 52 C 77 D
3 D 28 C 53 A 78 C
4 A 29 A 54 A 79 B
5 C 30 D 55 D 80 B
6 A 31 B 56 B
7 B 32 D 57 B
8 C 33 C 58 B
9 D 34 B 38 A
10 B 35 D 60 B
11 A 36 D 61 C
12 C 37 C 62 C
13 C 38 C 63 B
14 B 39 C 64 A
15 D 40 D 65 A
16 A 41 B 66 B
17 C 42 C 67 D
18 D 43 A 68 D
19 C 44 B 69 A
20 B 45 A 70 D
21 C 46 B 71 D
22 A 47 A 72 B
23 D 48 C 73 C
24 B 49 B 74 D
25 D 50 D 75 C
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